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1. WOXEZRERE LIV,

() (a — b)(Ca + b) =

2 (a + b)(a + b) =
@) (x +9)(y +2) =

4 (x —1)(y —2) =

KON EREH LRI,
(1) (x +6)(x +3) = x?

2 (x —3)(x —6) = x°

ROREEB LS,
(1) (4a +5)(a +4) =4

BERIV

a?+2ab + b?
+2 x +9 vy + 18
—2x — y + 2
+ 9 x + 18
— 9

x + 18

a ? + 21 a + 20

2 (7 x +2)((4x +5) =28

X 2 4+ 43 x + 10

3) (9 a +2b) (9 a

4 (6 x —7y)(6x

WOXE R LIV,
(1) (a —8)(a — b
= a? —ab — 15

(2)

+ 8 b )

=81 a2+ 90 ab + 16 b 2
+ v )

=3 x?2 — 3 xy — 7 y?
—7)

a +8 b + 56

(x —2vy)(8x — vyv)

=8 x? — 1T xy +2vy?



